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ORAN Higher School of Education {ENS)

1* Year Students (PES)

Moduie: Written Exnression

NFE N

Corrected Version and Grading Scale

Exercise 1:
Say whether the verbs in the following sentences are action or linking verbs.
Justify your answer

Our city could have become the major port of the Southeast. Become is a linking
verb (0.5)because it expresses a state of being( 0.5)

The head buyer carefully felt the texture of the cloth. Felt is an action verb(0.5)
because it describes an action (0.5)

Please, stay in the house. Stay is an action verb (0.5) because it describes an action
(0.5)

Despite the intense heat, Celia feit stronger than she had in months. Felt is a linking
verb(0.5) because it expresses a state of being(0.5)

The radio sounded the emergency alarm. Sounded is an action verb (0.5)because it
describes an action( 0.5)

Exercise 2: complete with either a possessive or refiexive pronoun

They did the job by themselves.( 1)

She bathed herself. (1)

I always put it in wardrobe. It is mine . (1)

Yes, we can easily rinse ourselves after having tried the mud healing. (1)

am pretty adamant it is theirs. They are trying to deny this.( 1)

Exercise 3: Underline the subject and circle the predicate in each of the following
sentences: (Justify your answers).

1. The president= subject ,together with his prime minister, saiutes the journaiists
kindly= Predicate , plus the justification (1)

2. Wait outside, please = Predicate ,plus the justification (1)

3. Fog=Subject forced the airport to take immediate measurements.=Predicate,pius

the justification (1)

4. Farther up in those woods stand: Predicate huge farmhouses.=Subject, plus the
justification (1)

5. Being too active=Predicate, the firm’s chief executive officer=Subject chairs a
bundle of meetings.=Predicate,plus the justification (1)




e Exercise 4: Provide six sentences with the following characteristics: (Explain each
example with details).
. One example where the subject is at the beginning of the sentence.(Example plus
explanation :0,5)
. One example where the subject is at the end of the sentence. (Example plus
explanaticn (1)
. One example where the subject is within the sentence.(Example plus explanation:
1)

One exampie where the predicate is before the subject.(Exampie pius

explanation:1)
.One example where the predicate is after the subject. (Example plus explanation:
0,5)
. One example where the predicate is partly before and partly after the subject.

(Example plus explanation: 1)



